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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
You have to write your answers in separate answer sheet:

1. Please write your Centre Code and Seat No. very clearly (only one digit in
one block). Before writing your Seat No. get it ascertained.

Please see that no block is left unfilled and even zeros appearing in the
Centre Code and Seat No. are correctly transferred to the appropriate blocks
on the booklet and on the answer-sheet.

For all subsequent purposes your Centre Code and Seat No. shall remain the
same. Centre once allotted will not be changed.

Example :

CENTRE CODE g Hehdish

SEAT NO. 3THH %di%

2. All questions carry one mark each.

3. All questions are compulsory.

4. If you do not know the answer to any question, do not spend much time on
it and pass on to the next one. Time permitting you can come back to the
questions which you have left in the first instance and try them again.

5. Since the time allotted is very short you should make best use of it. The
rough work is to be done on the last page of the question booklet.

6. Remember you have to mark on your answers in "Mental Ability Test" Section
of the answer-sheet only. _

7. The answers to each question are given in the question paper. See the number
of correct alternatives among them and by selecting the correct option
number of the appropriate questionnaire on the answer sheet, highlight it
-with BLACK/BLUE pen only.

8. Do not write anything except Centre Code Seat Number and rough work
anywhere in this booklet.

9. Now turn to the next page and start answering the questions.
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1. AZCX,

BYDW, EVGT, FUHS ?
(1) IRPK 2) JQLP (3) IRKP (4) LOJQ
2. WX, TU, PQ, KL ?
(1) EF (2) FE (3) FG (4) DE
3. AZ, DW, GT, 1Q?
(1) NM (2) OL (3) NP (4) MN

WO 4 F 6: G- A o Z 7 TSI T WEK WY i 38T S U 6

4, TER AR TEY A0 AN FIE?

() K 2) M (30 “Q

| 5. & FEgEEem 53, 79, 103 s 12 3 311 =% S 4999 755 7GR wEa?
(1) SUMO (2) EAGS (3) SWIM (4) GOAT

6. Site TEI e Ay A0 AR SEEE 9 S9EEE W6E e AEae
A ST ot ? :
(ﬂ]GS

Q.1to3:

1. AZCX,
(1) IRPK

2. WX, TU,
(1) EF

3. AZ, DW,
(1) NM

Q.4t06:

MENTAL ABILITY TEST

Directions— In each of the following questions write which
term in sequence replaces the question mark?

BYDW, EVGT, FUHS ?

(2) JQLP (3) IRKP (4) LOJQ
PQ, KL ?

(2) FE (3) FG (4) DE
GT, JQ?

(2) OL (3) NP (4) MN

Directions— In the alphabetical series A to Z all the letters
on even numbers are omitted, and a new series of letters is
prepared, observe the series and choose the correct alternative
for the following questions.

4. In the new series of alphabetic which letter stands exactly at the middle place?

() K

2) M (3)0 (4) Q

5. Which meaningful word will be prepared by choosing 5%, 7t 10t and 12t
letter in the new series?

(1) SUMO

(2) EAGS (3) SWIM (4) GOAT

6. In the new alphabetical series which pair at letters is at an equal distance to the
right and left of the letter which is exactly at the middle position?

(1) EW

Q.7to9:

(1) EW (2) KQ (3) CY
U 7 W 9: Gul— TEW 7 SHUTRT AT SiresEn
A o 2
7. () G@ @ @D G) q@; (4) ©?
W@ @) @] &
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7. (1)

8. (1)

A

Q

R

(2) KQ (3) CY
Directions — Find the odd figure

o O
@) c@[} 3) q@; (4) @

Vv

(2) %5 (3) @ (4)

(4) GS
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9. (1) O @ Q% ®) @ @ CD

10. M@ﬁlnmm.m@m4mmmammﬁﬁ
mﬁéﬁqsmmémmﬂ@wwﬁﬁﬁmm?

(1) 14 km (2) 13 km (3) 10 km (4) 17 km
uv 11 9 13: W—@awﬁm@mmﬁﬁmmﬁmm
@ A i Tt
11. BDF FGM KLW
(1) PLN (2) CRU (3) STA (4) DMT

12. MCQ  IKX = GQY
(1) ETX (2) JKP (3) RDW (4) GNK

13. KOLN, HRIQ, AYBX

(1) LPKQ (2) DVEU (3) CXDW (4) MNOL
ST 14 A 15: FAN- e FaEad Wigviten AT HEA Trenren =
ST TRITTAT AT Aeller?
14. abbb — aab —baa —bbaaa — —
(1) ababa (2) babab (3) bbaab (4) baaab

15.101 — 0121 —010— 12— 101001 — 1
(1) 01010 (2) 10102 (3) 10021 (4) 01012

16. 7 gErlt 2011 TS0 HER F W 2021 Wl 17 Fgaden Fow AR A2
(1) TR 425 (2) WA
(3) TuER ~ (4) e
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10. Abhijeet travels 10 km. to East. Then be turns left and travels 4 km. Then he
turns to South East direction and travels 5 km. How for he is from his oniginal place?
(1) 14 km (2) 13 km (3) 10 km (4) 17 km

Q.11to 13: Directions— In each of the following questions, find out the
group of letters that matches the given group.

11. BDF FGM KLW
(1) PLN (2) CRU (3) STA (4) DMT

12. MCQ LKX  GQY
(1) ETX (2) JKP (3) RDW (4) GNK

13. KOLN, HRIQ, AYBX
(1) LPKQ (2) DVEU (3) CXDW (4) MNOL

Q. 14to 15: Directions— A rhythmic arrangement of number and alphabets
is given. The missing letter alphabet appear in the same order
in one of the alternative answer. Find the correct alternative.

14. abbb — aab — baa — bbaaa — —
(1) ababa (2) babab (3) bbaab (4) baaab

15. 101 -0121-010-12-101001 -1
(1) 01010 (2) 10102 (3) 10021 (4) 01012

16. It was Monday on 7 Feb 2011. Which day will be on 17 Feb 2021 7

(1) Sunday (2) Tuesday
(3) Wednesday (4) Thursday
[ NMMS-MS-MAT [vii| M1 |
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g TfriEe die F&4 39 AR, FE PR A 180° FAW Sedwr=n wEr= fE
5 TR 45° $HW SSART WA Iuedl R a@e. TRl FE ser a1 225°

(1) F== (2) afe=m
(3) @ (4) =fEgm

U9 18 : YAN— YUl Iehdl YUi gruamEEt 9rg varg s

18.

X

\</<>/>\
B

8 o b

w19 F 22: gaT- fawmm g sl

19.

20.

21.

22.

WO 23 W 25: [OAI- WIS WIS SRAde deame T fatne fam

(1) FM 65 (2) CD 12 (3) BQ 34 (4) EG 35
(1) BGD (2) IDP (3) HCF (4) LBE
(1) XYT (2) HFD (3) OMK (4) LID
(1) PH (2) XL 3) TK (4) VK

e, T Fraw srerge weAta=RT WRi ara vaig o

7 5 () et ] L 7
8 | 5 |200
4 | 6 | 144
(1) 289 (2) 344 (3) 417 (4) 567
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17.

Sumeet faces West. Afier sometime be turns 180° in clock-wise direction. Then
be turns 45° in anti-clockwise direction. After same time be turns 225° in anti
clockwise direction. New to which direction his right hand will be ?

(1) South West (2) West
(3) East (4) South
Q.18: Directions— In the following question the given figure in

Q.19 to 22 :

incomplete. Select the correct alternative which can complete
the figure.

Final the odd term out
19. (1) FM 65 (2) CD 12 (3) BQ 34 (4) EG 35
20. (1) BGD (2) JDP (3) HCF (4) LBE
21. (1) XYT (2) HFD (3) OMK (4) LID
22. (1) PH (2) XL (3) TK (4) VK
Q.23 t0 25: Directions — In the following question numbers are written
_with a specific rule. According to that rule which alternative
will be in place of question mark?
Bl TR B
8 | 5 |200
| 4| 6 |14
- (1) 289 (2) 344 (3) 417 (4) 567
| NMMS-MS-MAT |VII| M1 | " 9 of 40




24. (98 | 12 | 62
o
37 | 21 | 147 |
(07 (2) 9 (3) 11 (4) 17
25. | 41|45 | 27
63 | 108 | 57
9 | ? | 16
(1) 82 (2) 79 (3) 67 (4) 63

UeT 26 W 28: FaM- 3 x 3 x 3 AR, TS UH TGRSt Sehedr daenw w@rei
TR 2 U9 W T e, @t e, fewen 9 fueer
T ST | AT W WA 1 x 1 x 1 AT St el

26, i I Tia FEOI i Tehd?
(1) 3 (2) 4 (3) 6 38

27, =1 Y= fetm @ SEuR S ft?
(1) 0 @1 (3) 3 (4)9

28. THE Y=UM Ui IR S T ?
1)1 (2) 3 (3) 6 (4) 9

29. o MM OIS di FEA IV el A IS ged 30 m S = e T
e Tt @H 20 m R F9E. TEl SSErHE 9 30 m = e Tl e

91 45 m SR F 9 T2 Hal IEFEE T @H 45 m HR FOA W q
T S e se?

(1) (2) s (3) & (4) =3
[ NMMS-MS-MAT [VID] M1 |

24. | 98 | 12 | 62
? |211] 8
37 | 21 | 147
(1) 7 (2) 9 (3) 11 (4) 17
25. | 41 | 45 | 27 |
63 | 108 | 57
90 | ? | 16
(1) 82 (2) 79 (3) 67 (4) 63

Q. 26 to 28 : Directions— The adjacent two faces of a wooden cube having
dimensions 3 x 3 x 3 is painted Blue, Green and Yellow are the colours used
to paint the cube. Then the block is cut by 1 % 1 % 1 unit dimension in small
blocks. Answer the following question.

26. How many blocks are there whose all faces are painted ?
(1) 3 (2) 4 (3) 6. (4) 8

27. How many block are there whose two faces are green ?
(1) 0 . @1 (3)3 (4)9

28. How many block are there whose only one face is coloured ?
(1)1 (2) 3 (3) 6 4)9

29. Pranav is standing on the ground facing North. He turns right and walks 30 m.
Then he turns left and walks 20 m. Again he turns right and walk 30 m. Again he
turns right and walks 30 m. Again he turns right and walks 45 m. At the end he
again turns right and walks 45 m. New at what distance he is from his original
place and to which direction ? '

(1) East (2) South, East (3) North, East  (4) South, West

- [ NMMS-MS-MAT |[VII| M1 | g




30. wfag, fafee, Tew, W9 & deem $ @@d 99 Rd TR 9 fafer SEER ARE.
TRV AT IOiE @R a9 WY 7 Wy I9ed e aHeen el @ A e
wiv e #me?

(1) (2) wiv=m
(3) s (4) fem

UvT 31 ¥ 34: GOAI- WIEIE WA He U fafire v fader one. fawen
TRt UE UEiE @ T el df dra T g,

31. 425, 353, 650
(1) 536 (2) 840 (3) 535 (4) 731

32. 550, 432, 672
(1) 416 (2) 798 (3) 330 (4) 9160

33. 128, 11, 67
(1) (2) 29 (3) 219 (4) 340

34. 496, 432, 464

(1) 338 (2) 344 (3) 378 (4) 342
WyH 35 9 36: m-mmrﬁﬁ%ﬁﬂ&mmgﬁamﬂwm
LG A
e

35, g B TEm wen fed aR?
(16 (2) 8 (3) 10 (4) 12
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30. Amit, Milind, Mahesh and Ramesh are playing carom Mahesh and Milind are
partners. Mahesh faces North and Ramesh is sitting to the right side of Mahesh.
Then Amit faces which side ?

(1) East (2) West
(3) North (4) South

Q.31to34: Directions— In each of the following questions find out the
term which matches the given group.

31. 425, 353, 650
(1) 536 (2) 840 (3) 535 (4) 731

32. 550, 432, 672
(1) 416 (2) 798 (3) 330 (4) 9160

33,128 11, 67

(1) 21 (2) 29 (3) 219 (4) 340

34, 496, 432, 464
(1) 338 (2) 344 (3) 378 (4) 342

Q.35t036: Directions — Observe the following figure and choose the
correct alternative for the questions.

b

35. What is the total number of triangles in the figure ?
(1) 6 (2) 8 (3) 10 (4) 12

[ NMMS-MS-MAT [vii| Mmi |




36. AT TuEe SEwAE R e fwdr? 36. What is the total number of trapeziums in the figure ?

(1) 4 (2) 6 (1) 4 (2) 6
(3) 8 (4) 10 (3) 8 (4) 10
Q.37to 38 : Directions— The folded figure of a square paper is given
W 37 q 38: YN Welt fretean v MG IrateearEn T =iy below. Ifit is unfolded. How will it Jook like ? Select the correct
FIETET Oaeet T2 faet ome, 9 &re Sagsedmal &l

alternative from given options.
fadm & factem vaidt seFemYA vit,

37.

0 o
M @ 3

——r—

37.

(3) (4)

(3) (4)

Vi b
N \/
4\
N

[~ 38,
38.
NP o) o Oy
Y ' [3}1/ {4}/
74 V%
O Sy _ ) 7 /|
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39. 2000 =it Hieen f qER FA W FE FoEn 961 afgen fE geEd e
(1) 2007 (2) 2004 (3) 2006 (4) 2005
WS 40 ¥ 41: HEA-
o +  TEUTS TUTRTT
+  TEUTS EATETeRt
—  TEUTH ATMEH
X q‘mﬂ‘ﬁﬂﬁ&lﬂﬁ?ﬁ‘

40. 5+3 =2 x4 <t fFma = _
1) 7 (2) 13 (3) 17 (4) 22

41. W, 30 +22=600; 25+ 12=250

15 + 32 = 450 7 28 + 42 = fxdi?
(1) 1120 (2) 2100
(3) 2840 (4) 4200

U 42 A 45: G- FE WA Srhe WERAT WgA Uk Toe oot foem
aTrEA wd ATt T faen, A g Pt wEA @t

(1) 0 (2) 2 (3) 4 (4) 16
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39. In the year 2000. “Women's Day’ was on Wednesday, then in which consequent
year Women's Day” will fall on Wednesday ?

(1) 2007 (2) 2004 (3) 2006 (4) 2005
Q. 40 to 41 : Directions —
If + means multiplication
+ means subtraction
— means division
*x means addition.

40. Then find the value of 5+3+2 x4
(1) 7 (2) 13 (3) 17 (4) 22

41, If30+22=600;25+ 12 =250
15+32=450then28 +42 ="

(1) 1120 (2) 2100
(3) 2840 (4) 4200
Q.42 to 45 : Directions— The following figure is made by joining some

cubes to each other. The figere is painted from all the sides. Observe the
figure and answer the question by choosing the correct alternative.

42. How many blocks are there whose four faces are painted ?

(1) 0 (2) 2 (3) 4 (4) 16

| NMMS-MS-MAT [VID| M1 |
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43. fdt SrFeara wHe JRER TG 37

(1) 0 (2) 40 (3)4s (4) 46
- 44, ‘P}.ﬂﬁ'ﬂ# TrEaeedl diFearsd fadl geinl 36T Stmeai=l Tor 3l e FAR?
(1)1 (2) 2 (3) 3 (4) 4

45. 9 99 (T=) Tiia Fmom S fFd?
(1) 4 (2) 8 (3) 10 (4) 12

WY 46 A 48: W—@ammwwmmmm
TS way fraen & S uaTe Ny, A WA g Wyt
wrlt g wofa e

46. 512:12::343:7

(17 (2) 15 (3) 10 (4) 20

47, 615:12: :819:7

(1) 30 ) 15 3) 36 (4) 24
48. 2:6::3:7

(1) 8 2) 10 (3) 24 @15
W49 : G- ot WS uvaren gewnTar I avel ore

o.[[M

|
Fee e
" | - _ b
@) H @) @M @l

43. How many block are there whose only one face is painted ?
(1) 0 (2) 40 ) 1 2 S (4) 46

44. How many faces of the block denoted by letter ‘P’ has touched the faces of other
block ?
(1) 1 (2) 2 (3) 3 (4) 4

45. How many blocks are there whose three faces are coloured ?
(1) 4 (2) 8 (3) 10 (4) 12

Q. 46 to 48 : Directions— In the following questions there is a specific relation
between first and second term. The same relationship exists between third
and fourth term, which will replace the question mark select the correct
alternative from the given alternatives.

46. 512:12::343:7

(1) 7 (2) 15 (3) 10 (4) 20

' 47, 615:12: :819:7

(1) 30 (2) 15 (3) 36 (4) 24
48. 2:6::3:7
(1) 8 (2) 10 (3) 24 (4) 15

Q. 49 Directions— The question figure given below is held vertically on water

surface. How will the reflection of the given figure in water look? Select the
correct alternative

o.M

i

| =
(1 @ (2) M (3) @ (4) M

[ NMMS-MS-MAT [VIII | Mt o | 18 of40
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W9 50 o 52: W—mﬁﬁﬁmmwmuﬁﬁﬁ
virgR g aia femr.

50. bdh :beh::ims:? _
(1) iem (2) ifs (3) ins (4) ijs
51. bhic:abc::isty:?
(1) ehi (2) inj (3) fij (4) gdh
52. gir: dhms::jns:?
(1) eint (2) acfj (3) jnst (4) fimr
W9T 53 © 56: m—mﬁ@mmﬁﬁma@.%mmﬁﬁm
AT TN B, W WA W Teren frw i e,
(1) S&h=1 39 &%A ©@E qF HeeE
(2) H=den 7 3 TN § [OIHRGT 9= T H
(3) W&e 7 WM 9 AR 9 Gedd feeE.
(4) SE=n ¥ARE HeA g9 F.

53. 30, 120, 8, 78
54. 37, 16, 31, 2
55. 336, 24, 0, 210
56. 67, 7, 19,° 52
NMMS-MS-MAT [VII| M1 |

Q.50 to 52 : Directions — Observe the pyramid of letters given below and
answer the questions that follow.

50. bdh:beh::ims:?
(1) iem (2) ifs ~ (3) ins (4) ijs

51 bhic : abc : :istj : ?
(1) ehi (2) iy (3) fij (4) gdh

-:51. glr : dhms : : jns : ?

(1) eint (2) acfj (3) jnst (4) fimr

Q. 53t056: Directions— Identify by which rule the following numbers
perform a set.
Option rule :

(1) Add three to the square of the number
(2) Multiply the number by 7 and subtract five from the product 30 obtained.

(3) Divide the number by 7 and add the square of the quotient in the
number.

(4) Subtract the number from the cube of that number.

53. 30, 120, 8, 78
54. 137, 16, 51, 2
55. 336, 24, 0, 210
56. 67, 1, 19, 52

[ NMMS-MS-MAT [VII| M1 | [ 210f40]




57. U TG SEIHET AFTA TIAER T AR 9 SEiFed 0l A 9 I9EFe
e TUAER oA AR, W W 9 T gred S0EE TR qel sRa

(1) 10 (2) 9
(3) 8 (4) 7

WY 58 W 60: WeAI- WEl fEeoan Tehdien 941 "racdl a7 Ush Sihal adrt
AL ™ e Py e qEe e s T

56

§8. 4 T4 Fr=N WAR HIvE HAF AA?
(1)1 (2) 6 (3) 5 (4) 2

59, EEleidsl FIvEl SiFe TaH B!

RCRE

60. 6T FAFToN FSH FIOM HF AN ART?
(1) 1 (2) 2 (3) 4 . (43

61. U= Wichfas WHa NOTE # 95 OQWI @ fafeam @ @= wWissfas swma BOOK

T V% |l Teee?
(1) CQRO
(3) CRSP

(2) CPQN
(4) CQQN
62. T HWiehfas Aa X H=11, P=19, TO = 41 318@ ™ @9 HWohiads WHd

LED=?
(1) 21 . (2) 26 (3) 29 (4) 30

NMMS-MS-MAT | VIII| M1

57. In a row Pradnya is standing at 11% place from left Najma is standing at 20"
place from left but 8'" place from right. How many girls are standing in between
Pradnya and Najma.

(1) 10 (2) 9
(3) 8 (4)7

Q. 58t060: Directions— The adjacent figure is folded to form a cube. Observe
the figure and answer the following question.

1 i 2 |
e
.4
5:6
58. Which number will be there on the surface opposite to the surface having number
47
(1)1 (2) 6 (3)5 (4)2
59. Which of the following figure is the figure obtained by folding the paper to form
a cube ?

R

60. Which number will not occur adjacent to 6 7

(1) 1 (2) 2 (3) 4 (4) 3

61. In a certain code language NOTE = OQWIL. Yhen in the same code language
Book =7
(1) CQRO (2) CPQN
(3) CRSP (4) CQQN

62. In a certain code language if H = 11, P =19 TO = 41 then in the same
language LED =7 : :
(1) 21 (2) 26 (3) 29 (4) 30

T NMMS-MS-MAT | VIII| M1 it 73 of 40




63. TE1 Wihfad WA ST THUMBA = ZYNFSG T ™4 Hidid® 9Md ROCKET &1 1%
w1 s’
(1) ILXPYG
(3) QNBIDS

(2) SPDLFU

(4) GVPXLI

04. ﬂﬁﬂmﬂsﬁm AT sm&awwcaamhzmammﬁ sirga ORBIT 71 ¥1s5
a1 foEmEn

(1) QPAGP
(3) QPDGV

(2) QRDHV
(4) QPDHV

UV 65 F 67: HEAI- Wl Yo WYTA Wy Ua faftife s seema

A | San
(@ b X |
IChiani (@) |
f 0 P lFims el F
of- | o xd o) |
o . X O 0 X" |
0l oCAloS |
66. g o 9
S O |
G e e
(1) S 2 LBy
© (CIANY sl
- @@l
@ @ @

(4) O

4) 0 S

| NMMS-MS-MAT | viI
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63. In a certain code language if THUMBA = ZYNFSG then in the same code
language ROCKET =7

(1) ILXPYG (2) SPDLFU
(3) QNBIDS (4) GVPXLI
64. In a certain code language SPACE = UNCAG then in the same code language
ORBIT =7
(1) QPAGP (2) QRDHV
(3) QPDGV (4) QPDHV

Q. 65t0 67 : Directions— In each of the following, question figures change
in a particular order. Find out the correct figure form the alternatives which
will replace the question mark.

B o i
65. | !?E:xf: O‘ ' ?
e Sl il e
(1) (2) x;‘ &1 SR | H}l U
‘S 0 ] D X X

P

[

|

i st @] fidle @) é
o o S| |

S [

ey (N e S |
) gi‘«.g m‘@ {3}@ m@

|
i
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UYT 68 T 69: WOAI- THM iU ferg Adter?

68. o+VOA, +0OaVA, OV+oA, ?

(1} A+OV@o
HVoA+O

2)oVO+A
HVoO+A

1Y 8V, VXape,0aVER, pVOaX,?

YabVp ) 2LpVoa
HTOBVa 4 20BaV
T 70 A 72: gaal- T a9 anedrer Fritgor wea a@wita et 3wt
| 6l _ gl
fw lliﬁ 3

57T (2) 47 (3) 118 (4) 180
71. T2 ©-GE & Tomedt fereit?
(1} 10 (2) 16 (3) 32 (4) 38
71, w7 SBihiET T Ee SR faurdt fa?
(1) 108 (2) 118 (3) 47 (4) 133
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Q.68 to 69 : Directions— Which signs will come in order ?

| 6. 0+VOA. +O0VA, OV+oA, ?

(1) A+0OVao 2)oVO+A
3)VoA+0O @ VoO+A
69. ELBE'BV, Vzaﬁﬂ,ﬂ{IVZB, ﬁVﬂ{lZ,?
(1) ZabVp @) XpVoa
3 20pVa @ 2opaV
Q.70to 72 : Directions— Observe the following venn diagram and choose
the correct alternative to the questions that follow.
61 — Kabaddi
47
10
Cricket 23116
32 Kho

70. How many students play Kabbadi and Cricket ?
(1) 57 (2) 47
(3) 118 (4) 180

. 71. How many students play only Kho-Kho ?

(1) 10 (2) 16
| 052 (4) 58
72. How many students play other games except Kho-Kho ?
| (1) 108 (2) 118
(3) 47 (4) 133

[27of 40]
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U 73 ¥ 75: WE— UiEedr TS O UEWIT WET Ha" ATE. qEe Gy
formn & =itean UETA AR A WE" VYA WeteeTe Ww ard

g femr
73. MITRA : BSUIN : : CLOSE : 7
(1) DMPTF (2) FTPMD
(3) BKNRD (4) FTMPD
74. BOLT : DRNW : : IMKA : ?
(1) LRNE (2) MAMB
(3) MOMN (4) LPMD
75. JEET : KDFS : : NEAT : ?
(1) MDBS (2) MFBS
(3) ODBS (4) OBDS
W 76 ¥ 77: GO @A A favea gemmel uw fafvre fawm o, @
iR Wyt Wrl g gaia fem
63 35 85
27 41
(1) 21 (2) 37 (3) 39 (4) 43

T |13 115 | 197

Q.73t075:

17 | 19 | 325

21 (23| 2
(1) 365 (2) 475 (3) 485 (4) 495
NMMS-MS-MAT [ VII| M1 | - 28 of 40

Directions— In following questions there is a specific relation
between first and the between the third and the fourth term, which will
replace the question mark. Select the correct alternative from the given

alternatives.

73. MITRA : BSUIN : : CLOSE : ?

(1) DMPTF (2) FTPMD

(3) BEKNRD (4) FTMPD
74. BOLT : DRNW : : IMKA : ?

(1) LRNE (2) MAMB

(3) MOMN (4) LPMD
75. JEET : KDFS : : NEAT : ?

(1) MDBS (2) MFBS

(3) ODBS (4) OBDS

Q. 76 to 77 : Directions— There is a certain relationship between the numbers
that are given in the following figures. According to that relationship which
alternative will replace the question mark ?

63 33 83

76. 71 e 43 19 o 67 5l 34

27 41 37

(1) 21 (2) 37 (3) 39 (4) 43

7. | 13 | 15 | 197

| 17 | 19 | 325
| B
(1) 365 (2) 475 (3) 485 (4) 495
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WYT 78 W 79: YAN— UlECAT ATl THAT ATFATI WA HaH R, TEH
wain fom=n & <itear snedia oTR. A Wau YirgR wyieeere @it

arg yata fem,

(1)

(3)
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(4)
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Q.781t0 79 :
relation between the first and the second figure. The same relationship exists
between the third and the fourth figure which will replace the question mark

78.

(3)

79.

(1)

15

o1

l
o} |4

Directions— In the following questions there is a specific

select the correct figure from the alternatives given below each question.
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WYT 80 ¥ 82: WEAT— THAM WyATa=TeAl WRlt siviar uata d5e?

80. 3,5,8,13,20,7

(1) 29 (2) 31 (3) 33 (4) 27
81. 2,3, 10,15,26,7

(1) 35 (2) 37 (3) 34 (4) 32
82. 71,79, 63,72, 7

(1) 81 (2) 63 (3) 54 (4) 90

WOT 83 T 84: [AAT— WHAUI, WRYT, NFEAGT, WO, HHA 7 WG ATad. AfaA0dT
o WEYT AN TR, A Fad Uehel Wes Wapal, i AsiHed
=faftea 7 @ Weal AfayT 9 WeWl asihes Eaard. Wi
T WY1 FEale SUN Wesdr, Afan sfaftan aaau 2aee |

EesaTd,

83. wew T B S B W O S T2 '
(1) Taa2fm Q) d=fer |
(3) Feaw (4) =™ |

84. e anfon v TV BE Wegan? |
(1) geara (2) ==
(3) Faeetm (4) F=fiza |

U 85 W 86: HuI- SWI WI-@ WHUAEre! fagmreisn i @d AB, CD,
EF, GH, 1J, KL 3791 Wrgar 39 amiq. A, C, E, G, I, K 37dier
Aderd AR AT AT WHTEarie faaareat smaam
AR ST T YEe Weiel I G 9,

85. C =1 qHiie famareat=n Trisdm fagmata amEgens FEEr F:m?

(1) H (2) F (3) ] (4) L [

NMMS-MS-MAT | VIII

M1 |

Q. 80 to 82 : Directions— Which number will replace the question mark
in the given series ? '

(1) 29 (2) 31 (3) 33 (4) 27 -
81. 2,3,10,15,26,7
(1) 35 (2) 37 (3) 34 (4) 32
82. 71.79,63, 72,7
(1) 81 (2) 63 (3) 54 (4) 90
Q. 83t0o84: Directions— Karan, Mahesh, Avinash, Parag and Akshay are

plavers. Avinash and Mahesh are expert in carom. Akshay plays only one
. game. Karn plays all the games except Badminton. Avinash and Mahesh
~  play Badminton. Parag and Mahesh are expert in football. Except Avinahs
all play Table ternnis.

83. Which game Mahesh plays but Karan does not play ?
(1) Tabletennis (2) Badminton

(3) Football (4) Carom
84. Which game Akshay and Karan play ?
(1) Football (2) Carom
(3) Tabletennis (4) Badminton

Q. 85t086: Directions— Students are standing to play ‘standing Kho-
Kho'. The pairs of students are standing in the order AB, CD, EF, GH, 1J,
KL. A, C, E, G, I, K are standing in the inner circle. The students who are
standing opposite to each other in the inner circle exchange their places.

. Choose the correct alternative to answer the questions.

85. Who is the partner in the outer circle who is left to the student standing opposite
toC?

(1) H (2) F 3) 7 4)L
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86. A = IFEIFHEA THA TUFET HIVE WrE 87
(3) ID

(1) CD

WY 87 T 88: [HN- W SNWIFA HITETET 9S4 UG At fafyre fawmoi
TG WYAATFAA TTRIHEAT 78, A FET= g2t ITaseariar

(2) AB

wvit fader @ 9rg gatam f,

i o

RS |

RS N N\
(1 (2) 3

Dl

88. |
L

A ]

@)

O

| DD DDDO
2
Mo @0y ©

ST 89 @ 91: Heurm- fawTe ww i,

89. (1)350
(3) 520

90. (1)314
(3) 332

91. (1)234

(3) 364

(2) 130
(4) 740
(2) 521
(4) 531
(2) 294

(4) 434
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@

:o DE
@> []
0 _©
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86. Which pair will be there on the second place to the right side of A ?

| (1) CD (2) AB
(3) ID (4) GB
Q.87 to 88 : Directions— A square piece of paper is folded and cut at specific

spots as shown in the figure. The paper when unfolded will look like as
shown in one of the alternatives. Select the correct alternative

J
= 5 |
d O
4
(}:

| 87

L S

O 0S ) 5
(1) 2) | DO B Do

N 3 “']
88. | [
. o ey
CR v
0.0 o O (o] O
1 o (9] Q0 Q
() DDO {z] @20 {4};055
o O | QA0 A
Q.89 t091: Directions— Find the odd term
- 89. (1) 350 (2) 130
(3) 520 (4) 740
90. (1)314 (2) 521
(3) 332 : (4) 531
91. (1) 234 (2) 294
(3) 364 (4) 434
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i Q. 92 : Directions— In the given question a complex figure is given. Find out
T 92: a- QEE Wy UF TAnjdren gt faered o, fawen which of the simple figure given in the alternatives is hidden in the complex
HATFEALT IV HTFA WG SMFAHE TS AR ? A" Taid figure?
fomn.

92.

6 -0 0 =

Q. 93t095: Directions— In the following questions words are given in
column I and are coded in column II. But they are not arranged according
to the order of word letters in column L Find the code language and choose

~ the correct alternative to answer the questions.

[I}OD ) Q (3}@ (4) Qe

U¥T 93 ¥ 95: HE- WElel Uyla W 1 Wl wigl vk faoiet amga emfur
wWa [ We W= Wickfies 3ieh faorel omga oot & w9 [ =0 |
VST YIS U TR 319 Er, o Wichfas WreT

vits QEie et 3w facen wataigs v | Column I | Column II
mera g | NOTA 3149
NOTA 3149 | H :;T
faol | LION 3524
PAN 984 |
LION 3524 | i 93. PRINT =7
93. PRINT =17 | (1) 67251 (2) 87241
(1) 67251 (2) 87241 ‘ (3) 78124 (4) 87421
(3) 78124 (4) 87421 L. o Lanp—1
94. LAMP=? | (1) 5968 (2) 4829
(1) 5968 (2) 4829 | (3) 5928 (4) 4368
(3) 5928 (4) 4368 k 9 Ol
95. OMNI =? | (1) 3724 (2) 5361
(1) 3724 (2) 5361 i (3) 3642 (4) 5626
(3) 3642 (4) 5626 \
[ NMMS-MS-MAT M1 |
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WeT 96 A 97: @m—mﬁﬁﬁmmanﬁﬂ%mmﬁﬁm

gaigmygA faEt

96. g
(1) @\ 2)

%)
97. /
( 6 (2)
1) \

WyT 98 o 100: T Wl Taoican S TRraEEA e wyet 3at for.

23
13
14 13
2 3

b

4t

28
24
22
16
12
4

98, 28,27:24.25,26::12,11:7?

(1) 4,5,6

(2) 17, 18, 19

(3)

(3)

fid

>

27
26
21
18
11
6
(3) 5,6, 7

9. 15,14,3,13:19,10,7,9::24,23,16,22,:7

(1) 18,19, 11, 10
(3) 26, 21, 17,20

(1) 21, 18, 10
(3) 20, 19, 11

(2) 15, 13, 12, 16
(4) 26, 21, 18,20
100. 28,24,22:27,26,21::22,16,12=7

(2) 21, 18, 11

(4) 27, 26, 20
¥ 3 2

(4)

4)

10

(4) 15, 16, 17

CR

e

19

e —— = x
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Q96 to 97 : Directions— Choose the mirror image from the alternatives
given for the given question figure.

@ kﬁ @ % @ EQ

(1). \G (2) /@ [3}-50\ {4)/6;—

Q. 98 to 100 : Directions— Observer the Pyramid of number and answer the
question that follow.

B

(1)

A

29
28 27
24 25 26
23 22 21 20
15 16 17 18 19
14 13 12 11 10 9
2 3 4 3 6 T 8
98. 28,27:24,25,26::12,11: 7
()4,56 ~ (2)17,18.19  (3)5,6,7 (4) 15, 16, 17

99, 15,14,3,13:19,10,7,9:: 24,23, 16,22, : ?
(1) 18, 19, 11, 10 (2) 15, 13,12, 16
(3) 26,21, 17,20 (4) 26, 21, 18, 20
100. 28,24,22:27,26,21::22,16,12="1
(1) 21, 18, 10 (2) 21, 18, 11

(3) 20, 19, 11 (4) 27, 26, 20
* ok X
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